
MATH 120 2020-2 Thursday 08:40-10:30 - Week 14 - Quiz 6

• Duration: 15 min (10:15-10:30)

• Write your NAME, SURNAME, ID and SECTION.

• Upload your solutions to Gradescope as a SINGLE JPG or SINGLE
PDF PAGE

Question:

Evaluate the line integral
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where C is the curve x = 3 cos t, y = 3 sin t, z = 4t for 0  t  2⇡.

C (t ) = ( 3 < ost
,

3 s!n +
, 4 e)

,
+ C- [ 0,2Tl]

=) C
'

(+1 = ( - 3 s!nt
,
3 Cost

,

41

=) ds = Ile '
1tl11 de = f-3s!n-cll-fcostlz-4F.de

= 9s!!-tgco!t-T.de

= 9+1Û de
= 5 de

21T 2Tl

4 t 20T{ ds = | gs.u.g.az#.5de-- | g- de
o

0

= -1,0 +
'

/
"T

0

= § ( 4 r! -01

= ÷ 1T
'


